
SV = EV – PV / EV = % compl. x BAC 

CV = EV – AC 

     
  

  
 

     
  

  
 

      
      

      
 

VAC = BAC – EAC 

ETC = EAC – AC 

           
   

    
 

                            

                
      

         
 

                       

     
      

 
 

EAD ±σ   activity range 

   
   

 
 

      

EMV = P x I 

    
                       

                 
              

1 σ     ,… % 

3 σ   99 73% 

  σ   99 999975% 

<=For memorization: P M O (like Project Mgmt. Office) 


